MEMRBSC

your freetime on the move

Menabo original spare parts

M Ricambi (A Richiesta) Codice
Gl Spare Parts (Made to order) Code
A Piéces de rechange (Sur commande) Q Code
A Teile (auf Anfrage) . Code
I Piezas de recambio (Previa solicitud) Codigo
I 3anacHbie yacTi (no sanpocy) Kofg
i)
@, sx 1
P 700017400000
] 700003200000
] 700003100000
'| 700006900000
] 700002200000
1 700006000000

1
Q:=6x25 I
=\ 5mm 1 700025000000
@ 2 700002400000
= 4 700002600000
2 700015500000
@' 4“2,55" 1 700001100000
@ 1 700015600000
@ 1 700017500000
LD 6x55 2 700015700000
M6 6
& M6 4
(=) 6x12 12
(= Méx25 6 700015400000
Q—== M6x35 6
M6x40 9
0—— M6x35 2
&S 4
M6x35 4
&) me 4 700001800000
(=) 6x18 4
0—— Mm6x95 4
1 700017000000

info@flli-menabo.it



http://www.tcpdf.org

